202289 & =

2N
X ZH -
L= B

el

N & 0l & At

& A=EAMHSE3AH EH

o o Al

=H o

A

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Aot=S Dt 15,331,049 13,212,130 2,118,919
s 2,915,000
< 1,419,500
= 10,996,549
FE =2 AY 13,773,141 11,712,130 2,061,011
s 2,915,000
< 1,419,500
i 9,438,641
A2 (4T AL SESAH) 5,572,916 3,853,970 1,718,946
F=Z2dg2e 2,332,916 2,023,970 308,946
101 1A dl 78,844 38,748 40,096
YPIERNEED =P 78,844 38,748 40,096
OXH+T HENFL L 4+TAE HEXY
ol 37,301
—Jl=s 75,8003 * 190 A 3 2 x4 3] 34,565
— WSl 2,000 x19JH A x3Y »2 2 x4 3| 912
— = Al 4,0003 * 190 A~ *3F 2 x4 3] 1,824
ogld & Xl =&22e 92 38,271
—Jl=s 75,8003 x2H 21«88 25,469
—FF5Y 75,800& x2H x32F 4,852
- RS54 75,800 »2H ~9L 1,365
— WSl 2,0003 x2F 21 «8& 672
— =AM 4,000 28 *x212 8 1,344
— XY 81,800& 2 43| 655
—4EE = 32,616,000 x12% 3,914
Oa=& ==HEI uH A2 3,272
—Jlas 75,800% x2H x5 x4 3| 3,032
— WSl 2,000 «2H x5 x43] 80
— =4 4,000 2«52 x4 3| 160
201 YEr2 b 1,794,130 1,611,374 182,756
01 At 22l 187,412 148,410 39,002
OF=+& F2UHA =222 (THES)
35,5003 *40 x52=F 7,384
O=%2 & 21AM 400&*10,000% 4,000
O=gH(S=87, FEA, HI&2R)
8,000& x20H 43|« 128 7,680
O=EANE 223 HE W=l
360,000 8H 2,880
OllgR=sg(E84+& 25,0003 x4 A+ 12 1,200
OARIIIl A28 P (F=2%)
200,000 *4JH A 63| 4,800
OMSIIJ| =elBl(d=%) 200,000 *4J4 2 800
HEH ¥ =8 600, 000& *20IH 2~ 12,000




M Aot
HE: HELBIAY
Cel: A2 (4=ZAIESEEAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Ost=24s6t=C 83l (== HM56%)
930,000& x13] 930
Ox=ZZAN =2 38,419
- &= 326, 4003 x4 2 %123 15,668
- 8,588
2 32,200& 54 A +83| 1,288
=g 365,000& *5H A 43 7,300
—Sx=UEE 63,5003 x15J0 2~ +43] 3,810
— %2 2HFAAN(MLAE +FOIAH )
54,2003 x4 A x123] 2,602
— BRI (A, A2, B2, UE8)
22,6003 x4 A x123] 1,085
—SHZAXNS(HS) 105,200« 23| %123 2,525
~ NABLT XL BEBMN 242
200,000 * 100 2 *23] 400
— s (&, o E2)
311,730 »30H 2 +43] 3,741
OUYB4E 2018448
101.42&+1,000E 365 37,019
OsdXxel =3 (& e F2)
44,000% 5E «3H 2 *43] 2,640
OB+H B2BE 7Y(HA, AR, I8
g) 300,000& *4JH" 1,200
O+52 +TBIAAY BA2Y
70,000& x108 13| 700
OXNYM4T HASLE Mo
6,000& *3,000A E 18,000
OmazoAKANY AN
990, 000& =123 «2CH 23,760
O AEF e HHAEIA HA(FEE,E
2 MNESX S) 350& *3&+12,00004 12,600
Ot 23 IUsS0H 82 =8
150,000& = 12& 1,800
O+ 222 M= 400 12,0000 x23] 9,600
02 2324l 1,606,718 1,462,964 143,754
O B8z L RAESH(8E =1
1E E™) 2,000,000 *4CH 8,000
ON4EXY REHI(AS=R, HIASH)
350,000 » 122 «3(H 12,600
O&=CX& ®IIX ESEHE
200,000 »3CH =123 7,200
OSEHSHOUHAAE SHAERZ
55,0003 14501 2« 128 95,700
OSEHASHAHAAMNAE SXE=H|
5,000,000 » 14! 5,000
OdIIANEZ 378,000
— oA E 12,200,000& »12& 146,400




AN dot=E
B ELRANY
BRl AATRERE(METAYSEEN) S @a)
SA - BH-B(SH) - MEMNY - BYS Ofl &4 e 2
—dHAS 8,600,000& «12& 103,200
—E2AS 8,600,000& x12& 103,200
—HEAS 800,000& =128 9,600
—MAAHS 1,300,000& 12 15,600
O&J|etM 2e|thHd ===3F 2,500,000& 204 & 5,000
O&Il EI1& A 500,000 *20H A~ 1,000
ORAUBHIAIAEY =F (5)42)
400, 000& 54 242 | 8,000
Otldxels 2EH0 282 80,0003 =4TH 320
OtlEXels8 &80l 2=l
1,500& x124 =4 «12& 864
OZ3=+% &84 daH|
1,500& *1,1204 =40 2 6,720
O =Jl A=zl 50,000& *123] 600
ONYBEAYH 4+ 2
2,000,000 x2S 1204 & 48,000
OaxER3 ZT21Y RAE>
2,859,000& 42| 11,436
ON+E23 DN HUSH BB (2SR
Y EXN+=== XL 4603 «12,000& «128 66,240
OM+E SRE PHYSE
430 x12,0000H 23] 10,320
ORLaaAZE &2 RANE*
7,000,000& » 14! 7,000
ORHEAAY HEI SN2
150, 000& = 100& 15,000
ON4ER3 2HZE BY)| SMUAES
90,000& x12& 1,080
OM+E23 2% ®IIN PEE ¥ SNES
1,200,000 =14l 1,200
Oax=ER=s 29 HIIX SHHE
100,000& 128 1,200
OBAMLE Ba 448
432.8% x5,800E +365 916,238
202 044l 2,800 2,800 0
01 SLHOYI 2,800 2,800 0
O=ZAE 2Z2A HELSE Ol
350,000 »8H 2,800
206 M= Hl 245,142 224,048 21,094
01 MHZ 4l 245,142 224,048 21,094
OZ+& «ZH 73,992
— PAC 351& *100,000kg 35,100
— XOLEAMLULESE 351&%100,000kg 35,100
—Jtaatt 395&+9,600kg 3,792
OXCUMTY(HASLT U 45 B)
7,000,000 » 14l 7,000
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SN ASRED
g FH=2CMS
SYl MHACRABR(YETMYSLEH) (ol @)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OaZAlE 228 & 2 (OS2, Bh
=X, REAS) 300,000,000% *0.72/100 2,160
otrsgtz X =222 WA & dE3A
1,200,000, 000& *0.36/100 4,320
AT IHLEMS (M=ZAIESLESIH) 6,876,351 5,998,650 877,701
s 2,915,000
< 719,500
s 3,241,851
S3ALAIE 232,001 175,799 56,202
401 AIEHI L 201 232,001 175,799 56,202
01 A& Bl 230,330 174,535 55,795
Oa=AIE83AM 580,000 *400% *99.28/100 230,330
03 A& S THHI 1,671 1,264 407
Osx=AlE&SAt 580, 000& *400%& =0.72/100 1,671
F=ZAHE 1,125,350 623,850 501,500
201 Let2d] 97,500 97,500 0
02 =224l 97,500 97,500 0
O, =% SX el 5,000,000& *44 2 23] 40,000
OF=+HMelAld (BT 5)
10,000, 000& *53] 50,000
OH=XelAlg |X 22| 2,500,000 *304 & 7,500
401 Al HIZ 201 8] 1,027,850 526,350 501,500
01 A& HI 1,027,850 526,350 501,500
OF=Z AN&E= RX2c 558,000
— 22 ASFEYES(0C PLC S)
70,000,000& =104 2 70,000
— 22 ASFLUHUASHH(XS LI PLC
g) 12,000,000& *1JH £ 12,000
— 22 FHEHA 22 B3 AH(LHH2
g) 20,000,000 =104 2 20,000
—STEEX gL X (22)
66,000,000 =104 A 66,000
—H&LEI EX(F2, 48
110,000, 000& «2H 2~ 220,000
—HT NSEXNSAHUE)
20,000,000& =104 2 20,000
— 23+ 22ls B SAH(US)
20,000,000& =104 2~ 20,000
—%EEQI| EX(HS) 75,000,000 14! 75,000
— 22 STM = Z2UH (2 S)
5,000,000 =14l 5,000
— N8 SAzel 50,000,000& =14 50,000
O+ 3Ltz 80,000,000& =14l 80,000




SN ASRED
g FH=2CMS
Cel: LA (M=ZAISSEEAH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O&F==Z S44d “2LX &X
4,500,000& *5H 22,500
OF=% 8 £EX(223. U482, 42)
20,000,000& =74 2 140,000
QUL E NasH(E2)
22,000,000 =104 2 22,000
O&=t 2 =dcsd
50,000,000 =14 2 50,000
Od=t=X FERKLAH(E2)
11,000,000& *1JH £ 11,000
OXI EXEX &x(82.42)
4,000,000 *20H 2 8,000
OHl==HMelAld HE (&)
20,000,000 =104 2 20,000
OF=Z AL A 9,000,000 40 A +23] 72,000
Obi=X HA(1904) 2,500 +8,870&E »23l 44,350
L - 1| 2,295,000 2,715,000 A 420,000
s 1,148,000
< 229,500
[ia 917,500
403 A X EHHS =0l A 2,295,000 2,715,000 A 420,000
s 1,148,000
< 229,500
[ia 917,500
02 SO 2SOICHSH A2 X 2 & A I 2,295,000 2,715,000 A 420,000
Odletz a5 |
2,295,000, 000& 14 2,295,000
s 1,148,000
< 229,500
s 917,500
AQE 222l lmet 2EAY 2,524,000 1,541,000 983,000
s 1,767,000
[ia 757,000
403 A X EHHS =0l A 2,524,000 1,541,000 983,000
s 1,767,000
[ia 757,000
02 SO 2SOIlCHEHA 2 X 2| A I 2,524,000 1,541,000 983,000
OALE 222 elZet =
2,524,000,000& 14 2,524,000
s 1,767,000
s 757,000
HPAMIT sHEMES NS A (D EH) (D EA 400,000 693,001 293,001
o)
< 280,000
fia 120,000
401 A& HIZ 201 I 400,000 693,001 A 293,001
< 280,000
e 120,000




M Aot
HE: HELBAY
Gel: AEHSAM (AT ASSESEA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 A& HI 397,120 688,635 A291,515
OWSAFNT SOHEMHBLINLAY (HE)
400,000, 000& *99.28/100 397,120
< 280,000
e 117,120
03 Al 2 THHI 2,880 4,366 N 1,486
QUIAFI T sHEMES LA (HE)
400,000,000& *0.72/100 2,880
SHXNT SHEMEESNLAIS (HSAY) 300,000 0 300,000
< 210,000
s 90,000
401 Al HIZ 201 I 300,000 0 300,000
< 210,000
s 90,000
01 A& HI 297,840 0 297,840
OZHXNT sHEMESEFIHL A (HE)
300,000,000% *99.28/100 297,840
< 210,000
s 87,840
03 AlE S THHI 2,160 0 2,160
OZHXNT sHEMEESIHL AN (HE)
300,000,000% =0.72/100 2,160
A2 SE AL 2 (S MASESH) 1,323,874 1,859,510 A 535,636
< 700,000
s 623,874
A2 EAE 2E 22 323,874 259,510 64,364
201 €82l 93,374 103,990 A 10,616
01 At 22l 93,374 103,990 A 10,616
Od2 HIE% &I =22 (8] HES)
30,700& *27H 2 +23] 1,658
OB+ HE=2 +HAAN 222 (25BH2)
326,400 *760H A 24,807
OF=x =ZAM ==2(2J] 13HER)
56,5003 764 2~ *33] 12,882
OF == (Not=) =AM =22 (R2tE)
10,6003 *490H A x4 3] 2,078
OB%(Xot4) 2HAANES 2TAA +22(
etE) 50,0003 494 A *23| 4,900
OJXelE =ZHIA & MHBA ===
326,400 100 & 3,264
OS8BNs: +HAA 248 X
133,850 10004 2~ 13,385
OSYIA(AAZRLSZAE) HL22
200,000& x760H A= 23] 30,400
206 = Hl 3,080 3,520 A 440
01 =8l 3,080 3,520 A 440




SA: MBS
B FYLVE MY
CHElt ARR ACAIM BE(4ETARSHE ) CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OHEES ASAE(DA, 2222 70%) 2+
4,400& x700kg 3,080
401 AlEHIZL 2 0HY| 227,420 152,000 75,420
01 Al&H| 227,420 152,000 75,420
OARI2LETAAE EH ¢ 28 HZ2Xc2
10,000,000 *6IH 2 60,000
OXlot4y BEXZSANALE HAAYH 29
4,000,000& *43] 16,000
OXlotg EXx2=a AX 12,000,000 =204 A 24,000
OARRAEAE 22 =7
100,000,000 =14l 100,000
OARRLEAE %E SUZX 7Y
4,800,000 54! 24,000
OARAREEANE AZTELEX 8,8 49
90, 000 1901 A x23] 3,420
ARE SEIHAILE XA (HE)(HEAY) 1,000,000 1,600,000 A 600,000
& 700,000
= 300,000
401 AlEHIZL 2 0HY| 1,000,000 1,600,000 A 600,000
& 700,000
= 300,000
01 Al&H| 993,700 1,594,240 A 600,540
OALRARLET ALY HAISH (A EH)
1,000,000, 000 «99.37/100 993,700
& 700,000
= 293,700
03 AlIE 21| 6,300 5,760 540
OARBAET ALY HSA (HEH)
1,000,000, 000 «0.63/100 6,300
TH&2el 1,557,908 1,500,000 57,908
OlHIH (A AL ELESH) 1,557,908 1,500,000 57,908
ol g1 4] 1,557,908 1,500,000 57,908
801 ol bl 1,557,908 1,500,000 57,908
01 LBtoldl bl 57,908 132,120 NT4,212
Ouolgl gl 57,908,000 57,908
02 XHol - i< = ol 1l Hl 1,500,000 1,367,880 132,120
OMY o= = 0l dl bl 1,500,000,000& 1,500,000




